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QUESTION 1
You have just created 10 new 1140E IP DeskPhone for your customer using Element Manager. Using accessing
Subscriber Manger to assign the users to those newly created telephones, you notice that the telephones do not appear

in Subscribe Manager database.

Which Subscriber Manager synchronization mechanism updates the Subscribe Manger database with the
Communication Server 1000 Element Manger database?

A. Synchronize Accounts

B. Synchronize Job

C. Synchronize Subscribers
D. Synchronize Locations

Correct Answer: A

QUESTION 2

Click the Exhibit button.
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Given a company\\'s dialing plan shown in the exhibit, if a station user at the company in New York City dials
8-890-4233, what will happen to the call?

A. The Access Code of 8 will be removed and the call will complete over Route List Index# 1.
B. The call will receiveintercept treatment as indicated in the Customer Data Block (CDB) and fail to complete.

C. The NARS software will remove the Access Code and Location Code and terminate the call internally at Directory
Number 4233

D. The Access Code of 8 will be removed andthe call will completeover RouteList Index #0.

Correct Answer: D
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QUESTION 3

Click the Exhibit button.

Consider the customer\\'s current programming: NCOS of 2 = FRL of 2 Class of Service on all sets is CTD

With reference to the exhibit, how would you modify Route List Index 1 to permit all station users with an NCOS of 2 to
place 1+912 calls?

A. Change FRL on Route List Index 1 to FRL 1
B. Change FRL on Route List Index 1 to FRL 4
C. Change FLI on NPA entry for 1214 to RLI 2
D. Leave all existing programming as is.

Correct Answer: A

QUESTION 4
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Click the Exhibit button.

Consider the a customer\\'s dialing plan shown in the exhibit, which detail on-net and off-net dialing requirements:

TIE trunks between Location A and Location B are currently out of service.
TIE trunks between Location B and Location D are currently out of service.
All over TIE trunks are fully functional.

Which route will a call to LOC 304-2001 take if it originates from location B?
A.

TIE BD to LocationD.

B.

TIEAB to Location A.

C.

TIE BD to LocationD,then TIE CD to Location C then TIE AC to Location A
D.

The callwill not leave the originating PBX

Correct Answer: D
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QUESTION 5

Click the Exhibit button.

A customer has a Communication Server 1000RIs. 7 x system. Telephone users are required to use Basic
Alternate Route Selection (BARS) to make toll calls.

What Class of Service (CLS) adjustment must you make telephone in order to allow the system to use the
telephone network class of service (NCOS) to determine call eligibility?

A. change the CLS entrySRE to CTD

B. change the CLS entrySRE to FR2

C. change the CLS entrySRE to CUN

D. change the CLS entry SRE to UNR

Correct Answer: D

QUESTION 6

Click the Exhibit button. You are responsible for maintaining a small Communication Server 1000 RIs. 7 x SA system.
The customer decided against using Basic Automatic Route Selection (BARS) for call routing. They are now reporting
that the user of extension 2001 is blocked when attempting to dial local call using the COT access code.

Based on the exhibit, what adjustments should be made to the system to allow the user of extension 2001 to dial local
calls only by directly accessing the COT Route?

A. Change the Class of Service of extension 2001 to Semi Restricted (SRE) and leave the TGAR setting of two (2) on
the COT Route.

B. Change the TGAR of extension2001 to zero and leave the Class of Service setting of Toll Denied (TLD) on extension
2001.

C. Change the Class of Service of extension 2001 to Conditionally Unrestricted (CUN),leave theTGAR setting of two (2)
on the COT Route.

D. Change the TGAR of the COT Route to zero and change the Class of Service setting of extension 2001 to
Conditionally Toll Denied (CTD)

Correct Answer: D

QUESTION 7

You are using Element Manager to verify the system configuration before implementing IP Peer Networking. Which
element can you configure or modify using Element Manager?

A. Call Server
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B. Network Connection Service
C. Basic Input Output System (BIOS)
D. Hardworking watchdog

Correct Answer: A

QUESTION 8

Click the Exhibit button.

A Communication Server 1000 RIs. 7 x customer is adding a new Human Resource department with eight IP telephone
users. The customer has asked for the telephones to be programmed with consecutive Directory Number (DNs) from
their DID range (2000-2099). Which number sequence is available to meet the customer\\'s requirements?

A. 2001 2008
B. 2010 2017
C. 2050 2057
D. 2091 - 2098

Correct Answer: D
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QUESTION 9

Your customer has a Communication Server 1000 Rls. 7 x system equipped with System Errors and Events Lookup
pack 245 that provides the ability to display system messages on screen. When a system message in received, which
procedure should you use to look it up and display it on the screen?

A. Enter the system error number followed by For example, bug4080

B. Enter bug followed by the system error code and .For example, bugerr4080

C. Enter errcde followed by the system error code and .For example, errcde bug4080

D. Enter err followed by the system error code followed by .For example, err bug4080

Correct Answer: A

QUESTION 10

You are configuring a bandwidth management zone on a Communication Server 1000 Rls. 7 x Call Server.
The Call Server zones will be used for interface communications between endpoints (IP telephones and
gateways).

Which is the preferred bandwidth management strategy, assuming the network has adequate bandwidth?
A. Best Quality (BQ)

B. Best Bandwidth (BB)

C. Allocated Bandwidth (AB)

D. Best Effort (BE)

Correct Answer: A

QUESTION 11

Which Overlay (LD) is used to find an unused card slot (LUC) for a new Digital Line Card that will support five digital
telephones?

A.LD 22
B. LD 20
C.Lb21
D.LD 81

Correct Answer: B
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QUESTION 12

What new prompt is added to an IP set configuration to allow for assigning a set for Zone Based Doling?
A. the ZONE prompt

B. the NUMZONE prompt

C. the DIALPLAN prompt

D. the ZBO prompt

Correct Answer: B

QUESTION 13

Click the Exhibit button.

You are adding ten digital telephones as required by a customer work order. The customer wants the user
to see the calling or called name associated with the number dialed.

Which Customer Level feature from the list shown in the exhibit, must first be provisioned before you can
enter names in at the station level?

A. Call Redirection

B. Feature Options

C. Listed Directory Number

D. Call Party Name Display

Correct Answer: D

QUESTION 14

An enterprise has a network with Communication Server 1000E systems running RIs 7 x IP Peer Network. For this
network, when are the Digital Signal Processor (DSP) resources required?

A. when a compressedmediachannel is required without circuit switching

B. when interworkingis necessary to third-party SIP-enabled products

C. when it isnecessarytotranscode between IP and circuit-switched devices
D. wheninterworking is necessary to third-party H.323-enabled products

Correct Answer: C
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QUESTION 15

A customer site has a Communication Server 1000 system located at us main campus and wants to network me system
for direct calls with a system in a different city. Which type of steering code is required to route calls over specify trunk
routes between the two sites?

A. Distant SteeringCode (DSC)

B. Remote Steering Code (RSC)

C. Network Plan Area (NPA)

D. Special Number (SPN)

Correct Answer: A
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